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Christmas Division

Solve the following word problems.

Santa has 789 candy canes he wants to distribute
equally among his 9 reindeer. How many candy
canes will each reindeer get?

A toy factory has 456 toy cars ready for Christmas.
If they want to pack them in 8 boxes, how many
toy cars will be there in each box?

Mrs. Claus baked 675 gingerbread cookies for
Christmas. She wants to divide them into 5
batches. How many cookies will be in each batch?

A Christmas tree farm has 894 trees ready for sale.
They want to divide them equally among 6 lots.
How many trees will be in each lot?

A charity has 723 Christmas presents to distribute
among 3 orphanages. How many presents will
each orphanage get?

A Christmas market has 980 ornaments for sale.
They want to divide them equally among 4 stalls.
How many ornaments will be in each stall?

A group of 567 carolers want to divide into 3
groups for Christmas caroling. How many carolers
will be in each group?

8 A shop has 864 Christmas lights. They want to
divide them equally among 6 boxes. How many

iighfs will be in each box?
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